1.

RETFAN XFA SHAOERE 01

ROFHEZE X, (S0, A5, B#15208, C#24)

(3)

a—1
2

X 4

ngl

(2) 1’52 %3

(4) ﬂxg

®) TXY .15

(10) —e+b+2 ()

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

(1)

(3)

(5)

(7)

9)

ROFEEZE L. (S50, Af1510%, B#15358, C#Hl25208)

3r—2
3

x 9

—z=1 g

—2a+ 3

X 8

(2) # % 14

() 3r=1 .y

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

RETALN XFX DEAOEH 01 BSHES

ROFHEZE X, (S0, A5, B#15208, C#24)

* ERIclE, RZBW () HH5.

(3) 9t+2 .4

(4 ==£=2 .9

2
= (z+y) x(-1)
=—Tr—vy

(8) zty x 15

=(x+y)x5

=5x + 5y

)

= (—a+b+2) x (~5)

=5a — 5b — 10

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. XoitEEE L. (S50, A1 108, BHFK15358, C#25208 )

(1) 3333_2 X 9

=(3z—-2)x3

=92 — 6

(3) L_1><9

=(—z—-1)x3

=—3x — 3

(7 ng

=(—2a+3) x4

= —8a + 12

=(—a—b—c)x(—4)

= 4a + 4b + 4c

(2)

2a + 2

5 x 14

=(2a+2)x7

=14a + 14

20+ 3y — 2z % (—12)

— (20 +3y — 2) x (=6)

= —12x — 18y 4 62

=(—2a—3b+c) x (—3)

=6a + 9b — 3¢

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

